20118 =& 2 3] B3I JIEISESH sSARSH ~ sS4t

2 & M A

B S BAE MM L RENL(STHYSN/5Y - 5E)
UFE SHAZ M4 U 5E MBHATY (el &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRs2
MRS 14,746,474 14,002,449 744,025
= 5,642,870 4,916,971 725,899
& 1,830,000 1,830,000 0
J| 1,449,326 1,449,326 0
= 395,870 395,870 0
Al 5,428,408 5,410,282 18,126
UFE 5 BAS MM U RENM(STHSSL/ 5 14,643,023 13,917, 108 725,915
CsE)
MBS : SU FWH YHE S8 SIHAS B0
= 5,642,870 4,916,971 725,899
= 1,830,000 1,830,000 0
J| 1,449,326 1,449,326 0
= 395,870 395,870 0
Al 5,324,957 5,324,941 16
UFE SHAS MM U SE MBHATY 14,366,910 13,649,995 716,915
HUXNE 1: HBHUSE
Yol SHX 1566 %
MDXE 2 ANARAC HOHE HAs
goildE SHEX 18 A
= 5,611,262 4,894,363 716,899
= 1,830,000 1,830,000 0
| 1,436,201 1,436,201 0
= 395,870 395,870 0
Al 5,093,577 5,093,561 16
EERE RS ESPN R 2,227 2,092 135
= 1,973 1,854 119
Al 254 238 16
403 X SHMSAH=01H 2,227 2,092 135
= 1,973 1,854 119
Al 254 238 16
01 RXSHMA2E = 2,227 2,092 135
24BN MNEX =S At 2& 2,227,000& 2,227 2,092 135
= 1,973 1,854 119
Al 254 238 16
ASIIE THL ALY 695,780 0 695, 780
3 695, 780 0 695, 780
403 XXM SA=201H 695,780 0 695,780
= 695,780 0 695,780
01 MXISMAZ2E = 695,780 0 695,780
= ASJe OYet At 695,780 0 695,780
= 695,780 0 695,780
=Ab AlE SEOHE ALY 21,000 0 21,000
= 21,000 0 21,000
308 XX SIS 0| F 21,000 0 21,000
= 21,000 0 21,000
01 RXSHBABES 21,000 0 21,000
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